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ASG 5017 |AEG | 1 |25 7| 2500 | 5000 500 2000 —500 1050 | +15=+40
GRG-250/3000 | Tu 2 |25 5 6500 | 6500 | 400 2000 | —500 50+250i +30++50
KY 21 Eim | 4 |25] 10 3000 500 | | +40-+80
KY 21 A Eim | 4 |25/ 10 11000 | 750 | 3000 | | +40+ 480
RSQ 7,5/0,6 TIf 3 /25| 5| 7500 | 7500 | 200! 600 | —320 50 @ +15+-435
TT17 Tay 5 |25 5| 2500 | 7500 | 250 | 2000 | —5=—500 | 50250 | +25=+60
TQ2 | BB 5 25! 7| 7500 | 7500 | 500 | 2000 —500 255100 | +25-=460
XC728 A amer| 6 | 25| 5| 5000 | 5000 |200| 800 +30+ 440
2G 57 amer| 6 |25/ 5| 2500 2500 300! 1200 —10 420+ +40
3G1 Fiv 5 25| 5| 5000 | 10000 | 250 | 1000 +25+ +60
302 Cet 4 |25 7| 2500 | 2500 | 640 | 2500 +3< 100 | 200500 | +30-+80
967 amer|{ 5 |[2,5| 5 10000 | 10000 | 250 | 1000 —500 +30= 480
5557 int 5 | 25| 5| 2500 | 5000 | 500 | 2000 | —~6,5-—500 50--250 | +40- +80
5594 int 5 /25| 5| 2500 | 5000 | 500 2000 | —2,25- —500 —75++80
Equivalents
i
CE 302 Cet = 302 PL17 Phl = 5557
CE 309 Cet = 5557 | PL5557 Phl = 5557
DR 17 amer = 5557 | $7,5/0,6d RFT = RSQ7,5/0,6
E 5000705 Phl = 5557 | 17 amer = 5557
FG 17 GE = 5557 | 309 Cet = 5557
MT 17 Mul = 5557 | 715 amer = 5557
MT 5557 Mul = 5557 | 1701 Amp = 5557
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